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0 Introduction
This paper presents the solutions available for the SRVCC container issue for SRVCC towards GERAN and their potential impact on specifications.

1 SRVCC from LTE to GERAN – Position of companies in RAN3
During the online discussions, the following options have been considered for the reverse direction:

1) MSC includes T+L see TS29.280: the MSC sends the Layer 3 Information IE including the T+L to MME. MME transparently forwards and eNB receives the Layer 3 Information with T+L.
2) MME includes T+L: the MSC sends the Layer 3 Information IE without including the T+L to MME. MME includes the T+L before forwarding and eNB receives the Layer 3 Information with T+L
3) eNB does not need T+L (not send by the MME): the MSC sends the Layer 3 Information IE without including the T+L to MME. MME transparently forwards and eNB receives the Layer 3 Information without T+L. 
During the online discussions, the following options have been considered for the forward direction:

1) eNB does not include T+L: the eNB sends the OldBSS to NewBSS Information IE without including the T+L, the MME and MSC forwards transparently to the BSC (the BSC receives the IE with T+L as part of the normal encoding process by the MSC of the BBSAP message).
2) MSC removes T+L: the eNB sends the OldBSS to NewBSS Information IE including the T+L, the MME forwards transparently to the MSC, the MSC removes the T+L before forwarding to the BSC (the BSC receives the IE with T+L as part of the normal encoding process by the MSC of the BBSAP message).
3) MME removed T+L: the eNB sends the OldBSS to NewBSS Information IE including the T+L, the MME removes the T+L before forwarding to the MSC, the MSC sends transparently to the BSC (understood in the sense that the BSC receives the IE with T+L as part of the normal encoding process by the MSC of the BBSAP).  
During the offline discussion, the following grouping of company position into 3 solutions appeared possible: 
Solution 1: full transparency with no CN involvement in both direction i.e. reverse 3/ and forward 1/
· Impact: correction of S1AP and correction of TS29.280 (forward direction)
Solution 2: MSC adapts by including T+L in reverse and removing T+L in forward i.e. reverse 1/ and forward 2/

· Impact: correction of TS29.280 only
Solution 3: hybrid between eNB and MSC i.e. reverse 3/ and forward 2/
· Impact: correction of S1AP (reverse) only

2 SRVCC from LTE to GERAN – Conclusion and way forward

Five companies asked for further checking but RAN3 chairman announced that decision will be taken at next RAN3#84 meeting. 


















